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Losung Al

a) |Jx?y2=uxy

b) | Va2b2c? = abc

) | 4x?y?=2xy

d) | Y = uw

e) | /x10y5215 = x2y;3

f) | VaZb*c® = bc - VaZc?

g9) (x4y4)% = JxHyH)3 = [x12y12 = x6y6
h) | (27a%b%)s = ¥27a356 = 3ab?

i) | V3+3V2—-V2+4V3=5V3+2V2

Losung A2
a) |iy-Vb+2iy—3Vb=3%y—4Vb

b) | /a+ b)zg Ja+ b)3§ =((a+ b)gf ((a+ b)g)g —(a+b)-Va+h

4
c) 3va32¥a?va-a3 _ eava-Va?ya-Va* _ 6a?¥a® _ 6at _ 6a°
%ﬂ% Va* a a
2 2 28 3 71__ 530
5 x3-x5 x15 29 2 Lo x2. 11
d) | Va7 Y. T = = it s = g
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e) | Y(n+x)3 - Y(n+x)5=n+x)?
f) xéx%S\/}W _ 5-\/F~3\/F —
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LOosung A3

a) | V3-v27k =81k = 9k
(3vVa+xva)-va =3a+xa=a@3+x)

) | (V3-+v5) =3-2VI5+5=8-2VI5
(V50 +V18):V2 =25 +/9 =8

&) | (V3% —VIZR)VE = V3 —VIZ =3 VT3 = —3
0 |(ve- ) vz - evz-vz=vae-v
9) | (0,5Vx)° + 3xvx = 0,125xx + 3xvx = 3,125xvx
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